the 72T 22 B APAE ABCD oA A D
£ A= vehy|?

X, Ly

@O /x=100° sy =50° @ /x=100°, 2y =60°
® /x=110° sy =50° @ /x=110° sy =60°
@Ax =120°, 2y = 50°

AB//CD °]|2& /ABD = /CDB, sy =50° ©]1!
Lx = Ly +70° /x = 50° 4 70° = 120° o]},




& 199 ARG ABCD oA B= o0

85°, /DAC = 20° 0|1 A D oA tiztA
AC o W& A0l -2 H 2t & off, /ZHDC

o] 27]%9

O 75° @ 70° ® 20° @15° ® 10°

/ADH = 90° — 20° = 70°
/B = /D = 85°
. /HDC = 85° — 70° = 15°
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AHFE ABCD oA HYAPHE A 227

oo

@ AB =5cm , BC = 5cm , CD = 5cm
@ /A =100°, /B = 80°, .C=8°

® OA =4cm, OB = 6cm , OC = 6em , OD = 4em (2, HO
= F el vH)

@ ABLAD,BCLCD

(®)AB//DC, AB = 3em , DC = 3em




4.

thS oA /AHB = /BAC = 90° & 1, T}& & 22

a=E? (A 270)

A

B H C
@ AB:AC - BH:CH (@) sABC oaHAC

® /C = /BHA @ /B =/ACH
@G)AH’ = BExCH

AABC ©OaHAC o4l AB: AC = BH: AH
(C =/BAH , /B = /CAH
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® 4 Q)5

® 6

rlo

AB:AC=BD:CD
2x:10=x4+3:8,x=5
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>
B RETae ~6cm- I
J
®/@°/11<(%’\ @;cm—;
K=—120 I N0 0
--6cm- -~
®© 9-0 ® ©e-© ®e-0
@) -6 ® 0-6

@HG:NO=IH:MN =1:2, /IHG = /MNO©°|E2&
AHIG @2 ANMO (SASE-S) o]t}
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h2 199 AABC|A] AB = 2AC ©]1L BD = 3DA o|t}.

9cm Y wf , CD o] do]E F51H?

A
D
B<— —C
“-9cm---
@ 4cem @gcm ® 5em
@ Ecm ® 7Tcm

2

BC

B

AD =q 2t 51, BD = 3¢, AC = 2¢°0|E&
AD:AC=AC:AB=1:2, /A= 2ZE
. AMACD O AABCO]| E&H|E=1:2

et CD:9=1:2,CD = g(cm)olt’r.




& 23 Zo] aAABC oA B =
/ACD, AC = 12cm, AD = 9cm & i,
BD ¢] Zol&?

@ 4cm @ 5cm ® 6cm
@7cm ® 8cm

B

/B =/ACD, /A FFo|B&
AACD 0 AABC (AA B)
.9:12=12:AB

AB = 16 cm

. BD=AB-9=16-9=7(cm)
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2|
=

t}S 1704 AD//MN//BC ©]1, AB :
o], 2y — x ©] 27

15—

=D

D 10 @ 11 ® 12 @ 13

x=BC =2MP = 10
y:m:%<ﬁ+m:§

2
: 2y-x:2><55-10:15




10. AABC o4 D = BC 2 $3°]1L AF = A
FD olt}. EB = 8cm ¥ W], AE 9] Z9]
L9 B
@D 2cm @ 2.5cm ® 3cm i
@ 3.5cm (@)4@111 D

w2tA AE = EG = GB =4 (cm)




11. o2 I3y & ZAzbe ABCD 9] ¥ AD, BC 9ol BE = FD 7}
A= HE, FE #S ), ogEBFD & " AL 171?

E

A D
BY— C
O suatez  @uaduy @ nEm
@ AN ® A2

AABF = ACDF (RHASHE)o|E2
AE = CF @&}A] ED = BF
%H BE = DF ©| 2 & gEBFD &= H A g o]t}




12.

= 7} O - ABC oA ADEF & ZgsH= B HT AABC
Edohs Yol Mz BT uf, x + 4y o 27

® 4 @ 9 ® — @ 15 ®)19

DE // AB |22 AODE @ A0AB
4 :9=x:9
x=4
DF // AC ©]E2 AODF ¢ A0AC
4:5=3":1y
15
Y=y
g x+4y:4+4><1745=19




13. o8 1¥o)A /B = /BFE = /DCG = 90°, AB =6, DC =8,
BG=2,GC =8¢ u, EF 9] Zo]=?

D

A \

/ \
sl S|

| I

\ /

\ /

B\ / N e C

A
@ 2 @ 25 G§)3 @ 35 ® 4

S )
ﬁ//D_CO]EE@:@zﬁ:C_D

@:8:x:8,@:x

. CF=8-x

AB//EF°]|22 CF:CB = EF : AB

(8—x):10=x:6

10x = 6(8 — x)
10x = 48 — 6x
16x = 48

ox=3




14. ©he 9 2o BAHAY ABCDAA BAH BE AhE A4
o] AD &t b= H& E, DC 9] A4} whit= S Fakal gt
AFEC = 60cm?, AEDF = 40cm? ¥ 9], AFEA 9] Y o|2 gure

AR
%F
v
B C
@ 10cm? @)20 cm? ® 30cm?
@ 40 cm? ® 50cm?

AADF = ABDF 0|22
AFEA = ABED = AECD
= AFEC - AEDF

= 60—40:20(01112)




E
SABC] H017} 36em? & W, AGDE ] Wol & Fahw?

15. o2 Od"94 H GE aABC O #AF A, GE = CE °|t}.

A
G,
B D C
@ 5cm? @ 4.5cm? ® 4cm?
@®)3cm? ® 2.5cm?

B

AGCD = éAABC = 6(cm?)

GE:EC=1:1°]E=2

1
AGDE = §AGCD = 3(cm?) o]t




